EARAROBEEIERT — 2 N— IBISH —F

20155F9A22H (X) 13@£R4H

B =russmgsna—1 A1 455 [eml | (sl — | # &) 1om &
[x&<£] 1 %:700,000 @  23#&:140,000 @ 3 #&:63,000 . 43#%&:49,000  ~ 53 :28,000 9
B | RE RESB MK HE BF (F8) s4 L (G&ZE) | BBIER | EOF |SIEH | AS | AE | AU FIR) / BE / £EHS
w s KB :49. -1-1- . - EEFIZE (£R)
11111 429314y 7 567} 1(4_9)6 1=1-1-1 | 39.3 1 ;1525) e
RF—TRTN=F BixA(4YayagtEr Laote )
. {Ae (=) : -4-3- = £E-E (&R
9 a| v Fa i 6 s 1.(571).1 4-4-3-2 | 40.5 4 a:g;) i (£R)
R:22-U>i0-X B:7>RO*X% A AR
N FEEIBAX : ~5-5- - £H—8 (&R
- NEESEEEFA H 6 2% T R ’ (5_135> Emue
R:7v3iI7—-L B:¥AT7KLZR =]=:Eae]
S0LE : 22 - HAER (2R)
4 5| THLYZ # 4| BB 1.(542).6 2-2-2-3 | 42.1 5 <5+327) A
L:7RIA4Y K> Birq—4or—014> [rerie ]
— - TR A .53, —3-4- . - B (£R)
slsls|EnLYTTR i 6 TE 1(563)8 3-3-4-5 | 43.1 2 (115132) ol
L:2Z /XLy b BiANRY 4 TR J=HrTr—L
. . FRIEZ :53. ~5-6- . - &% (£R)
5 3| bvayer-—x # 5 s 1(15/32)9 5-5-6-6 | 42.2 7 (fg) i
R:KTA hvZN B:a-Oko>ay b avEEKRASH T Y3 UR
= o= h Bt : —7-6- - PNEEFIZE (£R)
2l 7 | 7IFFnF # o4 | BB 1(.15/42.>o 7-7-6-7 | 42.3 6 (4_621) e (
SANZRTNG BT AHEy b KE BE
@ 1 —F—EBIE
1T=2r= 1,2,5,4,(3,6),7
2R == 1,2,5,4,(3,6),7
d=zr= 1,2,4,5,6,(3,7)
41 —F— 1,4,2,6,5,3,7
[ F/N=5
B OB 1 160 794K 1-4 230 5= 1-4 750 & 1-4-6 670
7B 1 150 1-6 200 BHE 1-4 850M e 1-4-6 1,990
4 4704 4-6 510M

ABICOVWTRDTEEERROODE. TR LIV,




